
APPROVED BY

DATE

FOR QUOTATION PURPOSE ONLY

CUSTOMER APPROVAL REQUIRED

20°20°20°20°

3
2

3
2

3
2
3
2

P
C
D
 

P
C
D
 

P
C
D
 

P
C
D
 

2
2

2
2

2
2
2
2

I

I

AD/B (SK40 FTC)AD/B (SK40 FTC)AD/B (SK40 FTC)AD/B (SK40 FTC)
DIN 69871 DIN 69871 DIN 69871 DIN 69871 

GS-M12X16-DIN 1835-B

1
0

1
0

1
0
1
0

80.9080.9080.9080.90

25
°

25
°

25
°

25
°

2222RRRR

100100100100

4
4

4
4

4
4
4
4

-1-1-1-1

43434343

1
4

1
4

1
4
1
4

53535353

H
5

H
5

H
5

H
5

1
5

1
5

1
5
1
5

22.5022.5022.5022.50

68.4068.4068.4068.40

08/1208/1208/1208/12

FWS409H-EKH14100FWS409H-EKH14100FWS409H-EKH14100FWS409H-EKH14100

WEMAG 
2002306.1401

1111

FFFF

2222

EEEE

DDDD

0.0120.0120.0120.012

MATERIALS:MATERIALS:MATERIALS:MATERIALS:TOLERANCETOLERANCETOLERANCETOLERANCE

3333 4444

TOLERANCETOLERANCETOLERANCETOLERANCE

FREE DIMENSIONSFREE DIMENSIONSFREE DIMENSIONSFREE DIMENSIONS

±±±±

±±±±

±±±±

±±±±

±±±±

6 to 306 to 306 to 306 to 30

3 to 63 to 63 to 63 to 6

5555

120 to 500120 to 500120 to 500120 to 500

30 to 12030 to 12030 to 12030 to 120

0.5 to 30.5 to 30.5 to 30.5 to 3

Dimns.Dimns.Dimns.Dimns.

PART NAME:PART NAME:PART NAME:PART NAME:0.150.150.150.15 ±±±±

0.100.100.100.10 ±±±±

0.200.200.200.20 ±±±±

0.300.300.300.30 ±±±±

0.050.050.050.05 ±±±±

DiaDiaDiaDia LengthLengthLengthLength

0.500.500.500.50

0.250.250.250.25

0.200.200.200.20

0.150.150.150.15

0.100.100.100.10

mmmmuuuu

GRADESGRADESGRADESGRADES

SYMBOLSSYMBOLSSYMBOLSSYMBOLS

DATEDATEDATEDATE2016201620162016

SK40EK14100FWWSK40EK14100FWWSK40EK14100FWWSK40EK14100FWW

QTY. :QTY. :QTY. :QTY. :

MHPMHPMHPMHP

NAMENAMENAMENAME

DRAWNDRAWNDRAWNDRAWN

APPROVEDAPPROVEDAPPROVEDAPPROVED

SCALE :SCALE :SCALE :SCALE :

6666

CHECKEDCHECKEDCHECKEDCHECKED

2:12:12:12:1

08/1208/1208/1208/12

DRAWING No.DRAWING No.DRAWING No.DRAWING No.

7777

RRRREEEEVVVV....

00000000

8888

FFFF

3.23.23.23.2

N8N8N8N8

0.20.20.20.2

N4N4N4N4

0.10.10.10.1

N3N3N3N3

0.050.050.050.05

N2N2N2N2

0.0250.0250.0250.025

N1N1N1N1

1.61.61.61.6

N7N7N7N7N6N6N6N6

0.80.80.80.80.40.40.40.4

N5N5N5N5

55550000

NNNN11112222

6.36.36.36.3

N9N9N9N9 N10N10N10N10

12.512.512.512.5 25252525

N11N11N11N11

EEEE

DDDD

BBBB

CCCC

16MnCr516MnCr516MnCr516MnCr5

AAAA

1111 2222 3333 4444 5555

Rev.No.Rev.No.Rev.No.Rev.No. Ch.LetCh.LetCh.LetCh.Let

BBBB

CCCC

AAAA

6666

AlterationsAlterationsAlterationsAlterations

7777

AAAAppppppppdddd....DateDateDateDate

8888

Sign.Sign.Sign.Sign.

08/1208/1208/1208/12RVLRVLRVLRVL

All Dimensions are in MMAll Dimensions are in MMAll Dimensions are in MMAll Dimensions are in MM

SSRSSRSSRSSR

PERMENENT SEALINGPERMENENT SEALINGPERMENENT SEALINGPERMENENT SEALING
WITH LOCTITEWITH LOCTITEWITH LOCTITEWITH LOCTITE

I-I  (1 : 1.2)

SCREWS  TO BE PACKED  SEPERATELY SCREWS  TO BE PACKED  SEPERATELY SCREWS  TO BE PACKED  SEPERATELY SCREWS  TO BE PACKED  SEPERATELY 
IN PLASTIC POUCH WITH LABEL & PUT INTO IN PLASTIC POUCH WITH LABEL & PUT INTO IN PLASTIC POUCH WITH LABEL & PUT INTO IN PLASTIC POUCH WITH LABEL & PUT INTO 
WELDON BORE & THEN SEAL THE HOLDER WITH COVERWELDON BORE & THEN SEAL THE HOLDER WITH COVERWELDON BORE & THEN SEAL THE HOLDER WITH COVERWELDON BORE & THEN SEAL THE HOLDER WITH COVER

45.5045.5045.5045.50

3
.3
0

3
.3
0

3
.3
0

3
.3
0

3.303.303.303.30

5
°

5
°

5
°
5
°

ALL SILVER LOOKALL SILVER LOOKALL SILVER LOOKALL SILVER LOOK

BALANCING 2.5G AT 25000 RPMBALANCING 2.5G AT 25000 RPMBALANCING 2.5G AT 25000 RPMBALANCING 2.5G AT 25000 RPM

WEIGHT : 1.8 kgWEIGHT : 1.8 kgWEIGHT : 1.8 kgWEIGHT : 1.8 kg

 M4 X 4mm x 2 mm M4 X 4mm x 2 mm M4 X 4mm x 2 mm M4 X 4mm x 2 mm

 G2.5 25000 U/MIN G2.5 25000 U/MIN G2.5 25000 U/MIN G2.5 25000 U/MIN

NOTE :NOTE :NOTE :NOTE :

LABEL FOR PLASTIC BAGS:LABEL FOR PLASTIC BAGS:LABEL FOR PLASTIC BAGS:LABEL FOR PLASTIC BAGS:

LLLLaaaabbbbeeeellll    ::::    
9992002306.1401
WWWWEEEELLLLDDDDOOOONNNN----AAAAUUUUFFFFNNNNAAAAHHHHMMMMEEEE    MMMMIIIITTTT    KKKKKKKK
WWWWEEEELLLLDDDD....HHHHOOOOLLLLDDDDEEEERRRR    CCCCOOOOOOOOLLLL....CCCCHHHHAAAANNNNNNNNEEEELLLL    
DDDDIIIINNNN66669999888877771111    SSSSKKKK44440000    AAAADDDDBBBB    
WWWWKKKK    11114444    mmmmmmmm    xxxx    111100000000    mmmmmmmm    
GGGG2222....5555    ////    22225555000000000000    UUUU////MMMMIIIINNNN

MMMMAAAARRRRKKKKIIIINNNNGGGG        ::::    DDDDIIIINNNN    66669999888877771111    AAAADDDD////BBBB    SSSSKKKK44440000    WWWWKKKK11114444HHHH111100000000

 Verschlussschraube Verschlussschraube Verschlussschraube Verschlussschraube
    Grub Screw    Grub Screw    Grub Screw    Grub Screw

ITEM NO.ITEM NO.ITEM NO.ITEM NO. PART NUMBERPART NUMBERPART NUMBERPART NUMBER DESCRIPTIONDESCRIPTIONDESCRIPTIONDESCRIPTION QTYQTYQTYQTY

1111 FWS409H-EKH14100FWS409H-EKH14100FWS409H-EKH14100FWS409H-EKH14100 SK40EK14100FWWSK40EK14100FWWSK40EK14100FWWSK40EK14100FWW 1111

2222 GS-M12x16-DIN1835-BGS-M12x16-DIN1835-BGS-M12x16-DIN1835-BGS-M12x16-DIN1835-B GRUB SCREW (B.O.)GRUB SCREW (B.O.)GRUB SCREW (B.O.)GRUB SCREW (B.O.) 1111

3333 GS-M4x4GS-M4x4GS-M4x4GS-M4x4 GRUB SCREW (B.O.)GRUB SCREW (B.O.)GRUB SCREW (B.O.)GRUB SCREW (B.O.) 6666


